
https://www.passapply.com/352-011.html
2024 Latest passapply 352-011 PDF and VCE dumps Download

 

 

 

352-011Q&As

Cisco Certified Design Expert Practical

Pass Cisco 352-011 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/352-011.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

 

 

Latest 352-011 Dumps | 352-011 VCE Dumps | 352-011 Study Guide                                1 / 3

https://www.passapply.com/352-011.html
https://www.passapply.com/352-011.html
https://www.passapply.com/352-011.html


https://www.passapply.com/352-011.html
2024 Latest passapply 352-011 PDF and VCE dumps Download

QUESTION 1

You are designing an IPv4 any source multicast redundancy solution. Which technology ensures the quickest RP
convergence? 

A. Bootstrap router 

B. MSDP anycast RP 

C. Auto-RP 

D. Embedded RP 

Correct Answer: B 

 

QUESTION 2

In a VPLS design solution, which situation indicates that BGP must be used instead of LDP in the control plane? 

A. MAC address learning scales better through BGP 

B. BGP supports VPLS interworking 

C. Pseudowire configuration overhead is reduced 

D. There are no full-mesh pseudowire due to the route reflection feature of BGP 

Correct Answer: A 

 

QUESTION 3

You are presented with requirements to design a development, testing and production environments. These
environment should communicate with each other, yet they should be kept as separate failure domains. Which routing
protocol should be configured on the links between the networks to support the design requirements? 

A. OSPF 

B. EIGRP 

C. IS-IS 

D. BGP 

Correct Answer: D 

 

QUESTION 4

Which two application requirements are mandatory for traffic to receive proper treatment when placed in the priority
queue? (Choose two) 
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A. WRED drop treatment 

B. Small transactions (HTTP ?like behavior) 

C. Tolerance to packet loss 

D. Intolerance to jitter 

E. TCP based application 

Correct Answer: CD 

 

QUESTION 5

You are designing an optical network. Your goal is to ensure that your design contains the highest degree of resiliency.
In which two ways should you leverage a wavelength-switched optical network solution in your network design?
(Choose two.) 

A. a wavelength-switched optical network guarantees restoration based strictly on the shortest path available 

B. a wavelength-switched optical network provides fault tolerance for single failures only 

C. a wavelength-switched optical network takes linear and nonlinear optical impairment calculation into account 

D. a wavelength-switched optical network assigns routing and wavelength information 

E. a wavelength-switched optical network eliminates the need for dispersion compensating units in a network 

Correct Answer: CD 

Latest 352-011 Dumps 352-011 VCE Dumps 352-011 Study Guide

Powered by TCPDF (www.tcpdf.org)

Latest 352-011 Dumps | 352-011 VCE Dumps | 352-011 Study Guide                                3 / 3

https://www.passapply.com/352-011.html
https://www.passapply.com/352-011.html
https://www.passapply.com/352-011.html
http://www.tcpdf.org
https://www.passapply.com/352-011.html
https://www.passapply.com/352-011.html
https://www.passapply.com/352-011.html

